

Paper 7 Financial Accounting


Chapter 19 Ratio Analysis

1.
Objectives

1.1
Explain the objectives of ratio analysis.

1.2
Discuss the used of financial ratios.

1.3
Calculate and interpret the following categories of accounting ratios:

(i)
liquidity ratios (流動資產比率)

(ii)
profitability ratios (獲利能力比率)

(iii)
management efficiency ratios (經營效能比率)

(iv)
capital structure ratios (資本結構比率)

(v)
investment ratios (投資比率)
1.4
Discuss the limitations of ratio analysis.

1.5
Apply ratios in cross-sectional comparison and trend analysis.

1.6
Explain the significance of and reasons for changes in ratios over time or differences in ratios among different companies.

1.7
Comment on a company’s performance in terms of:

(i)
profitability

(ii)
asset management

(iii)
financial management

(iv)
liquidity

(v)
cost control
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2.
Objectives of Ratio Analysis

2.1
To evaluate a company’s financial position and performance, we commonly apply ratio analysis to compare financial ratios derived from its financial statements and financial statements of other companies. Through evaluating a company’s past financial position and performance with ratio analysis, we may be in a better position to forecast its future.

2.2
Once ratios are calculated, comparisons can be made with:

(i)
trend analysis – how an organisation’s performance compares with that of previous years; and

(ii)
cross-sectional comparison – how its performance compares with that of other organizations operating within the same sector or with industry averages at the same point in time.

3.
Uses of Financial Ratios

3.1
Ratio analysis is applied to evaluate a company’s financial position and performance in the following areas:

(i)
Liquidity ratios;

(ii)
profitability ratios;

(iii)
management efficiency ratios;

(iv)
capital structure ratios; and

(v)
investment ratios.

(A)
Liquidity ratios

3.2
Of crucial importance to any organization is its ability to meet day to day debts as they fall due. It is not uncommon for a business which (on paper) is making a profit, to experience sever liquidity problems and there are two commonly used ratios which highlight such a situation.

(a)
Current ratio (流動比率)

3.3


	Current ratio =
	Current Assets

	
	Current Liabilities


3.4
The current ratio measures the relationship between an organisation’s current assets and its current liabilities. For example, if an organisation’s balance sheet shows current assets of $90,000 and current liabilities of $30,000, the current ratio is 3:1 ($90,000/$30,000). This means that for every $1 of current liabilities the organization has $3 of current assets.

3.5
There is no standard or recommended current ratio since it will vary depending upon the sector in which an organization operates. For example, fast food outlets such as McDonalds (0.5:1), or football club such as Tottenham Hotspur (0.17:1) will be able to operate with a relatively low current ratio. This is due to the nature of their business which entails low levels of stock, debtors and an abundance of cash rather than credit sales. In such organizations cash flow and hence liquidity will not normally be a problem and a relatively low current ratio will suffice.

(b)
Acid test (quick) ratio (速動比率)

3.6

	Quick ratio =
	Current assets – stock

	
	Current Liabilities


3.7
The acid test ignores stock, and concentrates upon those assets which can immediately be turned cash if liquidity problems do occur. Continuing the above example, if stocks comprise $45,000 of the organisation’s current assets, its acid test ratio will be:

	$90,000 – $45,000
	= 1.5:1

	$30,000
	


3.8
In the event of sever liquidity difficulties an organization can encourage debtors to pay more quickly, whilst short term investments can very quickly be sold and converted into cash. However, stock can take longer to convert to cash, especially if it is of a specialist nature, and it is, therefore, excluded from current assets when calculating the acid test ratio.

3.9
A current or acid test ratio which is significantly different to that of other organizations operating within the same sector might indicate a number of problems and should be investigated further:

(i)
ratios which are significantly lower than those of other organizations operating within the same sector might imply that an organization is too dependent upon short term borrowings for the funding of its day to day operations.

For example, an organization which has excessively high levels of trade creditors, short-term loans and a bank overdraft, may be forced to cease trading if any of these sources of finance is suddenly withdrawn;

(ii)
whilst significantly high current and acid test ratios indicate that cash flow is not a problem, they might suggest that an organization is not using its resources as efficiently as it could be, resulting in a lower than expected rate of return which will not please existing or potential shareholders.

For example, a high ratio might be due to excessive stock levels indicating the need for an improved system of stock control. Alternatively, the level of debtors might be too high, suggesting the need for an improved credit control policy to ensure that credit customers pay promptly and that had debts are minimized. Whilst consistently high cash and bank balances could be invested elsewhere to earn a higher return.

3.10
Liquidity ratios are of crucial importance. An organization that is too dependent upon short-term borrowings or which cannot meet its debts as they fall due is unlikely to be able to continue its business for too long.

(B)
Profitability ratios

3.11
On their own the amounts stated for gross and net profit do not convey a great deal of information to the user of a set of accounts. Their usefulness may be greatly enhanced by expressing each as a percentage of sales, allowing comparison with previous year’s and other organizations operating within the same sector, as well as providing an indication of how well an organization controls its costs.

3.12
There are two types of profitability ratios, those showing profitability in relation to sales and those showing profitability in relation to capital employed.

(a)
Profitability in relation to sales

3.13
Gross profit margin (銷貨毛利率)

	(i) Gross Profit Margin =
	Gross profit
	x 100%

	
	Sales
	


3.14
The gross profit margin expresses the gross profit as a percentage of total sales. For example, if our organization makes a gross profit of $150,000 on sales of $250,000, its gross margin will be 60%. In other words for every $100 of sales the organization is making a gross profit of $60.

3.15
A significant decrease in the gross margin between accounting periods might be due to a number of factors including:

(i)
an increase in the cost of raw materials, which it has not been possible to pass onto customers in the form of higher prices;

(ii)
an increase in competition in the market, resulting in lower prices and smaller gross profit margins;

(iii)
a change in the product mix, with the business selling a higher proportion of goods with a lower gross profit margin.

3.16
Net profit margin (純利邊際利潤率)

	(ii) Net Profit Margin =
	Profit before interest and tax
	x 100%

	
	Sales
	


3.17
The net profit margin expresses an organisation’s net profit as a percentage of total sales. Thus, if we make a net profit of $25,000 on sales of $250,000, our net profit margin is 10%.

3.18
A significant decrease in the net profit margin which is not accompanied by a similar change in the gross profit margin, might indicate that an organization needs to improve control of its expenses.

3.19
For example, it might be that wages have increased significantly necessitating a review of the level of overtime payments and the grade and numbers of staff employed.

3.20
The optimal gross and net profit percentage ratios will vary from industry to industry. What is of particular importance is that an organization reviews trends in its gross and net profit margin over time and investigates any significant changes.

(b)
Profitability in relation to capital employed

3.21
Types of ratios

	(i) Return on Total Assets
(資產總值回報) =
	Profit before interest and tax
	x 100%

	
	Total assets
	


Total assets represent the total sources of finance, i.e. owner’s equity, long term liabilities and current liabilities.

	(ii) Return on Capital Employed (運用資本報酬率) (ROCE) =
	Profit before interest and tax
	x 100%

	
	Capital employed
	


	(iii) Return on Shareholders’ Capital (ROSC) =
	Profit before tax
	x 100%

	
	Share capital and reserves
	


3.22
ROCE is the most popular primary profitability ratio, which states the profit as a percentage of the amount of capital employed. Profit is usually taken as PBIT and capital employed is share capital and reserves plus long term liabilities and loan capital.

3.23
The ROCE indicates how efficiently an organization uses those resources invested in it. The only difficulty involved in calculating the ROCE is deciding which definition of “capital employed” to use. Some organizations include only shareholders funds (share capital and reserves) in their definition, whilst others include shareholders funds and long-term debt.

3.24
As with other ratios so far discussed, as long as it is applied consistently the definition of capital that is used is not important, it is the trend indicated that we are interested in. From an investor’s point of view a high ROCE indicates an efficient use of resources and hence a better return on their investment.

3.25
For example, if an organization makes a profit before interest and tax of $15,000 and total capital employed is $100,000, the ROCE is a healthy 15% indicating that resources are being effectively used. This ROCE is likely to be acceptable to investors. The same profit from a capital investment of $500,000, will result in a ROCE of 3% ($15,000/$500,000), which is less likely to be acceptable to investors.

3.26
In assessing ROCE, two secondary profitability ratios can be examined which contribute towards the return on capital employed:

	(i) Profit Margin =
	PBIT
	x 100%

	
	Sales
	


	(ii) Asset Turnover =
	Sales
	

	
	Capital Employed
	


ROCE = Profit Margin x Asset Turnover

3.27
A company may make a low profit margin on its sales but if it has a high asset turnover and thus uses its assets well to generate sales, the resulting ROCE will still be high. In contrast, a high profit margin may mean that sales prices are high, resulting in sluggish sales and thus low asset turnover and thus low ROCE.

(C)
Management efficiency ratios

3.28
Several ratios are used to indicate how efficiently an organization is utilizing its assets. In general the better its use of assets the higher an organisation’s rate of return. The most common of which are considered below.

(a)
Fixed assets turnover (固定資產週轉率)

3.29


	Fixed Assets Turnover =
	Sales

	
	Fixed assets


3.30
Of key important is how effectively an organization utilizes its fixed assets. There is little point in having fixed assets which are constantly underutilized. The sales to fixed assets ratio indicates how much each $1 invested in fixed assets generates in sales.

3.31
For example, if an organization has annual sales of $250,000 and the net book value of its fixed assets is $100,000, its fixed assets turnover ratio is 2.5:1. In other words for every $1 invested in fixed assets $2.50 of sales is generated.

3.32
In general, the higher the fixed assets turnover ratio, the more efficiently fixed assets are being utilized. However, care must be taken when interpreting this ratio since it may be distorted through:

(i)
a significant investment in fixed assets during an accounting period which will increase the value of fixed assets and will in the short term result in a lower sales-fixed assets ratio;

(ii)
alternatively if little investment in fixed assets takes place and fixed assets are written down to a low or negligible book value in an organizations balance sheet, the sales-fixed assets ratio will be very high.

(b)
Stock turnover ratio (存貨周轉率)

3.33


	Stock Turnover Ratio =
	Average stock held
	x 365 days

	
	Annual cost of sales
	


3.34
As well as tying up an organisation’s resources, holding unnecessarily high levels of stock is expensive in terms of storage and security costs. Also, the longer that an organization holds its stock the greater the risk that goods will perish or become obsolete.

3.35
The stock turnover ratio expresses in days how long, on average, a business holds stock for. The shorter its turnover period the better, since less money is tied up in stock and stock will be converted into cash more quickly, enabling an organization to realize profits sooner rather than later.

3.36
For example, if during an accounting period an organisation’s cost of sales is $500,000, and the average amount of stock held is $12,500, the average length of time that stock is held is

	$12,500
	x 365 days =
	9.125 days ~ 10days

	$500,000
	
	


3.37
The average length of time that stock is held will depend upon the type of organization and the sector in which it operates. For example, a restaurant would not expect to hold fresh produce for more than a few days.

3.38
As already mentioned it is important that an organization does not burden itself with levels of stock which are too high. It is equally important that the level of stock is not too low since this will result in lost sales. A good system of stock control will assist in ensuring that an organization holds the optimum level of stock.

(c)
Debtors collection period (債務人平均收帳期)

3.39


	Debtors Collection Period =
	Average debtors
	x 365 days

	
	Annual credit sales
	


3.40
The debtors collection period indicates the average number of days between a credit sale taking place and an organization receiving cash payment from a customer. The shorter the collection period the better, since liquidity will improve and the risk of bad debts will be reduced.

3.41
For example, if annual credit sales is $750,000, and the average level of trade debtors is $50,000, on average the credit period taken by debtors is:

	$50,000
	x 365 days =
	24.33 days ~ 25days

	$750,000
	
	


3.42
A good credit control policy will ensure that the average collection period remains as low as possible. Credit control is essential since if debtors take too long to pay an organization will struggle to meet its own credit payments as they fall due.

3.43
In general, the credit period should not exceed 30 days and anything significantly in excess of 30 days should be investigated.

(d)
Creditors turnover period (債權人平均收帳期)

3.44


	Creditors Turnover Period =
	Average trade creditors
	x 365 days

	
	Annual credit purchases
	


3.45
Another useful ratio is the creditor turnover period which shows the average number of days that a business takes to pay its suppliers for goods purchased on credit.

3.46
For example, if annual credit purchases amount to $350,000, and the average amount of creditors is $25,000, the average time taken to pay creditors is

	$25,000
	x 365 days =
	26.07 days ~ 27days

	$350,000
	
	


3.47
Since we are concerned with trends, if credit purchases is not available the organisation’s cost of sales may be used instead.

3.48
Although some organizations see trade credit as a form of interest free funding, it does in fact have a cost. Delays in paying suppliers will result in an organization foregoing discounts for prompt payment.

3.49
Whilst an organization which persists in exceeding the agreed credit period runs the risk of adversely affecting its business’s credit rating, and even having its credit facility withdrawn by suppliers.

3.50
Like the debtors collection period, in general the period taken to pay suppliers should not exceed 30 days.

(D)
Capital structure ratios

3.51
Investors, potential investors and other lenders will be particularly interested in an organisation’s long-term funding arrangements. The higher the ratio of debt to equity the more dependant an organization is upon borrowed funds, and the greater the risk that it will be unable to meet interest payments on these funds when they fall due.

(a)
Debt ratio (負債比率)

3.52


	Debt Ratio =
	Total liabilities
	x 100%

	
	Total assets
	


3.53
Debt ratio is the ratio of a company’s total debts to its total assets. Debts consist of all types of debts. Assets consist of all fixed assets at their balance sheet value, plus current assets. It measures the company’s ability to meet all liabilities.

(b)
Equity ratio (權益比率)

3.54


	Equity Ratio =
	Total owner’s equity
	x 100%

	
	Total assets
	


3.55
Equity ratio reflects the relative importance of equity financing to the firm. The higher the equity ratio, the better the ability of the company will have to meet its external obligations. Debt ratio plus equity ratio equals to 100%.

(c)
Gearing ratio (槓桿比率)

3.55


	Gearing Ratio =
	Long term debt (long term loans and preference shares
	x 100%

	
	Capital employed
	


3.56
Gearing is the relationship between a company’s entity capital and reserves and its fixed return capital. Gearing is also referred to as “leverage” in some countries.

3.57
A company is highly geared if it has a substantial proportion of its capital in the form of preference shares or loan notes. A company is said to have low gearing if only a small proportion of its capital is in the form of preference shares or loan notes. A company financed entirely by equity shares has no gearing.

3.58
If a company uses bank overdraft persistently as a semi-permanent source of finance, it may be included as part of long term debt.

3.59
The importance of gearing can be illustrated by an example as follows.

Example 1

Two companies, A and B, both have capital of $10,000. A has it all in the form of equity shares of $1 each, B has 5,000 $1 equity shares and $5,000 of 10% loan notes.

Both companies earn profits of $5,000 in year 1 and $2,000 in year 2. Tax is assumed at 35% and the dividend paid is 10c per share.

The position will be as follows:
	
	A
	B

	
	$
	$

	Shares
	10,000
	5,000

	Loan notes
	-
	5,000

	
	10,000
	10,000


	
	A
	B

	
	Year 1
	Year 2
	Year 1
	Year 2

	
	$
	$
	$
	$

	Profit before tax and interest
	5,000
	2,000
	5,000
	2,000

	Loan interest
	-
	-
	500
	500

	
	
	
	4,500
	1,500

	Taxation (35%)
	1,750
	700
	1,575
	525

	Earnings
	3,250
	1,300
	2,925
	975

	Dividend (10%)
	1,000
	1,000
	500
	500

	Retained profits
	2,250
	300
	2,425
	475

	
	
	
	
	

	Earnings per share
	32.5c
	13c
	58.5c
	19.5c


The effects of gearing can be seen to be as follows:

(a)
loan interest is an allowable deduction before taxation, whereas dividends are paid out of profits after taxation; company B has consistently higher retained profits than company A.

(b)
earnings of a highly geared company are more sensitive to profit changes; this is shown by the following table:

	
	A
	B

	Change in profit before interest and tax
	-60%
	-60%

	Change in earnings
	-60%
	-66 2/3%


The reason for the fluctuation is obviously the element of loan interest which must be paid regardless of profit level.

This more than proportionate change in earnings is important in relation to the share price of the companies. Many investors value their shares by applying a multiple (known as P/E ratio) to the earnings per share. Applying a multiple of say 10 to the EPS disclosed above would indicate share valuations as follows:

	
	A
	B

	
	Year 1
	Year 2
	Year 1
	Year 2

	
	$
	$
	$
	$

	Share price
	3.25
	1.30
	5.85
	1.95


Thus the price of a highly geared company will often be more volatile than a company with only a small amount of gearing.

3.60
Note all companies are suitable for a highly geared structure. A company must have two fundamental characteristics if it is to use gearing successfully. These are as follows:

(i)
Relatively stable profits – Loan interest must be paid whether or not profits are earned. A company with erratic profits may have insufficient funds in a bad year with which to pay loan interest. This could result in the liquidation of the company.

(ii)
Suitable assets for security – Most issues of loan capital are secured on some or all of the company’s assets which must be suitable for the purpose. A company with most of its capital invested in fast depreciating assets or inventories subject to rapid changes in demand and price would not be suitable for high gearing.

3.61
The classic examples of companies which are suited to high gearing are those in property investment and the hotel/leisure services industry. These companies generally enjoy relatively stable profits and have assets which are highly suitable for charging.

3.62
Companies not suited to high gearing would include those in the extractive industries and high-tech industries where constant changes occur. These companies could experience erratic profits and would generally have inadequate assets to pledge as security.

(d)
Interest cover (利息覆蓋比率)

3.63


	Interest Cover =
	Profit before interest and tax
	

	
	Interest charges
	


3.64
This ratio indicates how many times interest payments on long term debt are covered by profit before interest and tax. The higher the level of interest cover the less likely the chance that interest payments will not be met, and hence the lower the level of financial risk associated with an organization.

3.65
The lower this ratio the greater the chance that a decline in profits will result in either:

(i)
interest payments not being met; or

(ii)
profits available for distribution to shareholders being very low, resulting in small or no dividend payments being made to shareholders.

3.66
If lenders are not happy with the capital structure ratios calculated, an organization will find it difficult to raise additional long term finds, or will have to pay a premium for such funds in the form of higher interest rates.

(E)
Investment ratios

3.67
If prime concern to any investor is the return that they will receive from their investment in an organization. Any return must be sufficient to reward the investor for the risk attached to that investment.

(a)
Dividend cover (盈利股息比率)

3.68


	Dividend cover =
	Profit after tax less preference dividend

	
	Total dividend


3.69
The dividend cover ratio indicates the proportion of available profits which is distributed to shareholders and the amount which is distributed to shareholders and the amount which is retained by the organization.

3.70
Care must be taken to ensure that investors are satisfied with the dividend declared, whilst enough profits must be retained to fund the future growth of the organization.

(b)
Price Earnings (P/E) ratio (市盈率)

3.71


	P/E ratio =
	Current price per share

	
	EPS


3.72
P/E ratio is the ratio of a company’s current share price to the latest EPS. A high P/E ratio indicates strong market confidence in the future profit growth of the company. Conversely a low P/E ratio indicates low market confidence in the company making a profit.

(c)
Dividend yield (股息率)

3.73


	Dividend yield =
	Dividend per share of previous year
	x 100%

	
	Current market price per share
	


3.74
Dividend yield is the rate of return a shareholder is expecting on an investment in shares of a company. Since shareholders expect dividend yield and capital growth, dividend yield is an important indicator of a share’s performance.

3.75
The yield will be influenced by the dividend policy of an organization; a company which has traditionally paid high dividends will be popular with some investors and this will be reflected in its share price.

3.76
From investor’s standpoint, the dividend yield indicates the return that an investor earns from holding shares in a particular company, and the higher the dividend yield the better. A low dividend yield might persuade investors to dispose of shares and invest the proceeds elsewhere.

(d)
Earning yield (盈利率)

3.77


	Earning yield =
	EPS
	x 100%

	
	Current market price per share
	


3.78
Earning yields measures a company’s earnings relative to its market capitalization value. It is another way of showing the financial return to ordinary shareholders.

(F)
Summary of ratios

3.79
The following table is the summary of ratios which are discussed above:

	Group
	Ratio
	Formula

	1. Liquidity
	(a) Current ratio
	Current assets/current liabilities

	
	(b) Acid test
	(Current assets – stock)/current liabilities

	2. Profitability
	(a) Gross profit margin
	Gross profit/sales

	
	(b) Net profit margin
	PBIT/sales

	
	(c) Return on total assets
	PBIT/total assets

	
	(d) Return on capital employed
	PBIT/capital employed x 100%

	
	(e) Return on shareholders’ capital
	Profit before tax/share capital and reserves x 100%

	3. Management efficiency 
	(a) Fixed assets turnover
	Sales/fixed assets

	
	(b) Stock turnover
	Average stock held/annual cost of sales x 365

	
	(c) Debtors collection period
	Average debtors/annual credit sales x 365

	
	(d) Creditors turnover period
	Average trade creditors/annual credit purchases x 365

	4. Capital structure
	(a) Debt ratio
	Total liabilities/total assets x 100%

	
	(b) Equity ratio
	Total owner’s equity/total assets x 100%

	
	(c) Gearing ratio
	Long term debt/capital employed x 100%

	
	(d) Interest cover
	PBIT/interest charges

	5. Investment ratios
	(a) Dividend cover
	Profit after tax less preference dividend/total dividend

	
	(b) P/E ratio
	Current price per share/EPS

	
	(c) Dividend yield
	Dividend per share of previous year/current market price per share x 100%

	
	(d) Earnings yield
	EPS/Current market price per share x 100%


4.
Interpretation of Financial Ratios

(A)
Horizontal analysis (橫向分析)

4.1
In horizontal analysis, the current year financial ratios of a company are compared with similar ratios of the previous year. Any significant changes are then be noted and their causes analysed. The main weakness of horizontal analysis is that any comparison of financial ratios are restricted to those within the company. Thus, with horizontal analysis, it is difficult to judge how good or bad a company is performing in relation to other companies operating in the same economic environment.

(B)
Cross-sectional comparison (橫截面比較)

4.2
In cross-sectional comparison, the financial ratios of a company are compared with the industry average ratios or ratios of comparable companies, that is companies in the comparable industrial sectors and preferably of similar sizes. Such cross-sectional comparison of performances between companies may highlight areas of strengths and weaknesses of the company in relation to the other companies. For many companies, finding suitable industrial average figures or companies which has released financial statements detailed enough for cross-sectional comparison purpose can be difficult.

(C)
Trend analysis (趨勢分析)

4.3
In evaluating the financial position of a company, it is more important to examine the various historical trends of its financial ratios instead of just the financial ratios in isolation. These trends of accounting ratios, stretching over a number of years, should give more insights and confidence in predicting likely future performance of the company.

4.4
For example, a company that shows low liquidity ratios in its latest financial year may be suspected of having liquidity problems. However, if the same company shows consistent trends of low but improving liquidity ratios in the last five years, it is more likely that the company can overcome its liquidity problems in the future. In contrast, if the company shows a fast declining trend of liquidity ratios, it may be facing liquidity problems soon even if the latest liquidity ratios are still healthy.

(D)
Over-trading (過度擴張營運)

4.5
Over-trading occurs when a company expands its business activities rapidly but without sufficient long-term capital to finance its expanding business. Over-trading trends to happen to small or medium size companies as they finance their expanding business with short-term credits but do not expand their capital bases at the same time. A profitable and fast expanding business may fail due to over-trading because it has insufficient cash to pay its short-term liabilities and is forced into insolvency.

4.6
Signs of over-trading and their probable causes are as follows:

(i)
cash and liquid assets decline sharply as money is diverted to fund business growth;

(ii)
debtors increase at a much higher rate than sales as money is short and debtors are not paid on time;

(iii)
creditors increase rapidly because of loss credit control to increase sales;

(iv)
stocks increase at a much higher rate than sales due to pressure from the sales department for faster delivery to gain more sales.

(E)
Comprehensive example

4.7
Example 2

The balance sheets as at 31 December 2007 and 31 December 2008, trading and profit and loss accounts for the years to 31 December 2007 and 2008 and other information of Long Ltd. are set out below:

Long Ltd.

Statement of Financial Position as at 31 December

	
	2008
	2007

	
	$000
	$000
	$000
	$000
	$000
	$000

	Fixed assets
	
	
	
	
	
	

	Land & Buildings
	
	
	34,500
	
	
	21,000

	Fixture & fittings
	
	
	8,500
	
	
	6,325

	
	
	
	43,000
	
	
	27,325

	Current assets
	
	
	
	
	
	

	Stock
	
	17,400
	
	
	13,570
	

	Debtors
	
	1,100
	
	
	620
	

	Bank
	
	450
	
	
	4,255
	

	
	
	18,950
	
	
	18,445
	

	Less: Current liabilities
	
	
	
	
	
	

	Creditors
	12,050
	
	
	8,500
	
	

	Dividend payable
	1,250
	
	
	1,000
	
	

	Taxation
	3,200
	
	
	2,850
	
	

	
	
	16,500
	
	
	12,350
	

	
	
	
	2,450
	
	
	6,095

	
	
	
	45,450
	
	
	33,420

	Share Capital
	
	
	
	
	
	

	Ordinary shares of $1 each
	
	
	10,000
	
	
	20,000

	Reserves
	
	
	
	
	
	

	Share premium
	
	6,800
	
	
	6,800
	

	General reserve
	
	8,750
	
	
	-
	

	Retained profit
	
	9,900
	
	
	9,120
	

	
	
	
	25,450
	
	
	15,920

	Shareholders’ fund
	
	
	35,450
	
	
	25,920

	Long term liabilities
	
	
	
	
	
	

	10% Debentures
	
	
	10,000
	
	
	7,500

	
	
	
	45,450
	
	
	33,420


Long Ltd.

Statement of comprehensive income for the year ended 31 December

	
	2008
	2007

	
	$000
	$000
	$000
	$000

	Sales
	
	95,700
	
	89,200

	Less:
	
	
	
	

	Cost of goods sold
	
	
	
	

	Opening stock
	13,570
	
	5,500
	

	Add: Purchases
	90,300
	
	90,000
	

	
	103,870
	
	95,500
	

	Less: Closing stock
	17,400
	
	13,570
	

	
	
	86,470
	
	81,930

	Gross profit
	
	9,230
	
	7,270

	Less: Expenses
	
	2,000
	
	1,000

	Profit before taxation
	
	7,230
	
	6,270

	Taxation
	
	3,200
	
	2,850

	Profit after taxation
	
	4,030
	
	3,420


Additional information:

(1)
There was no interim dividend paid in both accounting years.

(2)
Market price of $1 ordinary share on result declared:

2007 – $2.5

2008 – $2.9

(3)
Debtors as at 1 January 2007: $500,000

Creditors as at 1 January 2007: $10,000,000

(4)
All sales and purchases are made on credit terms.

(5)
Additional 10% debentures for $2,500,000 were issued on 1 January 2008.

4.8
Solution:

An analysis of Long Ltd. by means of financial ratios together with a brief comment on the implications of the analysis are as follows:

(a)
Analysis on Profitability
	
	2008
	2007

	1. Gross profit margin
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	2. Net profit margin
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	3. Return on total assets
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	4.
Return on capital employed
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Comments:

The acquisition of fixed assets is quite substantial during the year. However, return on total assets and capital employed have declined slightly. It can be explained by the increase in the gross profit margin and net profit margin.

(b)
Analysis on Management Efficiency

	
	2008
	2007

	1. Fixed assets turnover
	
[image: image10.wmf]%

23

.

2

000

,

43

700

,

95

=


	
[image: image11.wmf]%

26

.

3

325

,

27

200

,

89

=



	2. Stock turnover period
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	3. Debtors collection period
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	4. Creditors collection period
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Comments:

Assets turnover for 2008 have declined as compared to 2007. This is mainly due to the increase in sales in 2008 (i.e. around 7%) falls below the increase in fixed assets (i.e. around 57%). Stock holding period has increased from 42 days to 65 days. This is mainly due to the higher stock level. Debtors and creditors management is satisfactory, as the debtors’ collection period is much shorter than the creditors payment period.

(c)
Analysis on Liquidity

	
	2008
	2007

	1. Current ratio
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	2. Quick ratio
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Comments:

Liquidity ratios indicate that the company appears to have no liquidity problem to meet its current liabilities. Debtors turnover indicates that the sales are nearly cash sales, and practically, there is no need to finance debtors. Stock holding level is quite high, and since stock turnover is slower than creditor turnover, extra financing is required. The company may consider to keep a lower stock holding level so as to reduce its working capital requirement. Otherwise, liquidity problem can arise in case the stock on hand cannot be sold.

(d)
Analysis on Capital Structure

	
	2008
	2007

	1. Debt ratio
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	2. Equity ratio
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	3. Gearing ratio
	
 EMBED Equation.3  
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	4. Interest cover
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Comments:

The company is not considered to be heavily geared. Its capital structure has remained the same for both years. The ability to service its debt is satisfactory.

(e)
Analysis on Investment

	
	2008
	2007

	1. EPS
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	2. Earnings yield
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	3. Price earnings ratio
	
 EMBED Equation.3  
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	4. Dividend cover
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	5. Dividend yield
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Comments:

Due to increase in profit in 2008, earnings per share, earnings yield and dividend yield have increased. The share has become more attractive to investors in 2008.

4.9
Example 2

Large Ltd is now considering the possible acquisition of two smaller companies, South Ltd and North Ltd. Both of them are in the same industry.

Copies of their latest statement of comprehensive income and statement of financial position for the year ended 31 March 2008 are set out below.

Statement of Comprehensive Income for the year ended 31 March 2008
	
	South Ltd
	North Ltd

	
	$000
	$000
	$000
	$000

	Turnover
	
	600
	
	500

	Cost of sales
	
	450
	
	360

	Gross profit
	
	150
	
	140

	Distribution costs
	65
	
	29
	

	Administrative expenses
	25
	90
	31
	60

	Operating profit
	
	60
	
	80

	Interest payable
	
	8
	
	3

	Profit before taxation
	
	52
	
	77

	Taxation
	
	20
	
	27

	Profit after taxation
	
	32
	
	50

	Proposed dividend
	
	8
	
	15

	Retained profit for the year
	
	24
	
	35

	Retained profit brought forward
	
	102
	
	30

	Retained profit carried forward
	
	126
	
	65


Statement of Financial Position as at 31 March 2008
	
	South Ltd
	North Ltd

	
	$000
	$000
	$000
	$000

	Fixed assets
	
	149
	
	200

	Current assets
	
	
	
	

	Stock
	85
	
	62
	

	Debtors
	25
	
	64
	

	Cash at bank
	150
	
	3
	

	
	260
	
	129
	

	Current liabilities
	
	
	
	

	Trade creditors
	75
	
	65
	

	Taxation payable
	20
	
	30
	

	Proposed dividends
	8
	
	20
	

	
	103
	
	115
	

	
	
	157
	
	14

	
	
	306
	
	214

	Capital and reserves
	
	
	
	

	Share capital
	
	80
	
	80

	Retained profit
	
	126
	
	65

	
	
	206
	
	145

	Long term loan
	
	
	
	

	10% debentures
	
	100
	
	-

	Bank loan (secured)
	
	-
	
	69

	
	
	306
	
	214


The financial controller of Large Ltd is particularly interested in the liquidity and profitability positions of the two target companies. A ratio analysis is prepared which helps you to decide which company is a better investment.

4.10
Solution:

(a)
Profitability ratios

	
	South Ltd
	North Ltd

	1. Gross profit margin
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	2. Net profit margin
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	3.
Return on capital employed
	
 EMBED Equation.3  
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	4. Return on total assets
	
 EMBED Equation.3  
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	5.
Return on shareholder’s capital
	
 EMBED Equation.3  
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Comments:

North Ltd is a more profitable company compared to South Ltd. North Ltd’s gross profit margin is higher than South Ltd’s by 3%. Overhead expenses of North Ltd also appear to be under better control compared to South Ltd.

On the other hand, South Ltd holds more assets compared to North Ltd, particularly the cash on hand, this South Ltd has less favourable ratios regarding the return on capital employed, return on total assets and returns on shareholders’ capital. It seems that the management of South Ltd is less capable of employing the assets to generate profit.

(b)
Liquidity ratios

	
	South Ltd
	North Ltd

	1. Current ratio
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	2. Quick ratio
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Comments:

South Ltd is undoubtedly a more liquid company. South has a faster debtor turnover rate (i.e. South’s 15 days vs. North’s 46 days) and holds a higher level of cash as compared to North.

(c)
Conclusion:

North Ltd is currently more profitable and under a more efficient operation compared to South Ltd. However, further injection of cash may be required as its cash level is low. South Ltd has a better liquidity position. There is also available cash for further business development. Given more efficient management, South Ltd could become more profitable. If further injection of cash is not desired, South Ltd seems to be a more preferable investment.

5.
Limitations of Ratio Analysis

5.1
It can be seen that the calculation of a few fairly simple ratios will greatly enhance our understanding of an organisation’s financial position by summarizing key information in a user friendly way. However, although undoubtedly useful, the use of ratios does have certain limitations which must be taken into account when using them.

5.2
The limitations include:

(i)
ratio analysis is concerned with trends over a period of time. It is, therefore, of little use without comparative information from previous accounting periods or other organizations;

(ii)
changes in an organisation’s accounting policies may male comparisons over a number of years difficult. Whilst variations in the accounting policies adopted by different organizations must be taken into consideration when making comparisons with other organizations;

(iii)
ratios are based upon past performance and hence historical data. Although they can indicate future trends there is no guarantee that these forecasts will be correct;

(iv)
economic conditions must be taken into account when interpreting trends. For example, if interest rates are high, the ROCE will need to reflect this;

(v)
the ratios calculated are only as good as the information on which they are based. The preparation of any financial statements will necessitate estimates being made with regard to items such as bad debts, the revaluation and depreciation of fixed assets, and the outcome of any legal proceedings. Should any of these estimates be significantly incorrect, the ratios and the accounts upon which they are based will also be adversely affected.

(vi)
individual ratios should not be considered in isolation. To be used properly a number of the ratios discussed in this chapter need to be calculated and the overall reviewed. To calculate only one or two ratios might be misleading. For example, a business might on paper have a ROCE of 20% and a net profit of 25%, however, its credit control might be poor. Consequently, although profitable on paper, poor management of working capital might lead to cash flow problems resulting in the organization being forced to cease trading.
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